otk 1 0,P & 717 417k3 9]
y o g Fatelat.

olet.
web4 OA = OB = 0C

.. /0AB = /OBA
AOBC + o] 547z} o]

£0OBC = £0CB
/BOC = 180° - ZAOB = 180°

x =20

ii) A P 7} ADEF 9] 2l o] 5
ojt.

w2t PD = PE = PF = 5cm
LYy=25

i), ii) oAl x +y = 25°|c}.

A7+ Y121 9] 5’_7]9,] gko 180°

i) A O 7} AABC 9] HIH19] F4lof 1o B & AABC 9] 94

AAOB & O[5 H42Hd (- OK = OB)
70

—40° = 140°
- £OCB = (180° — 140°) + 2 = 20°

Al

°|22 /AOB = 40° °|t},
og (-0OB=

00)

glomE ADEF 9] 94




2.

ok 2ol A 17 ARz ] WAL W, x + 2y 9] g2

A

® 60° @ 65° ® 70° @ 75° ®)80°

~&B

/x=180°-2x (40°+30°) =40°

SoLx=40°

A 17 A7 Y yztol B2 & 19 443 9o HAlH S ol
i

718 o5,

oLy =40°

So/x+ Ly =40°440°=80°




ohe ol 2] WA 5] Bol7k 2em o], sABC ] Hol7t
36cm? ol2H e, A 0 7k AABC o] W4I% ], o] 47kee] Eefe]
2ol & Ffolat,

A

36:%x2x(ﬁ+ﬁ+c—m
- AB+ BC + CA = 36(cm)




o] o%é‘ AABC oﬂ/q 1—1 oL 9]/110]*7 1—1 I = q]/uo]u]-
/BOC = 1o4° %1 o, /OBI 9] 27]& F3HA 2

A

L
o

/BOC = 104° ©]B2 /OBC = (180° — 104°) x
<14l
/BAC = 104° x % = 52° o]B& /ABC = (180° — 52°) X

=38 (0 &

N | =

N | —
Il

64° .. ZIBC = 32° (WA])
oA LOBI = £OBC - /IBC = 6°




5. o5 Id™A A 0 = 4743 ABC 9] €40l BD = DE = CE
o ), /BOC ¢] A27]& F-3tefzth

A

L
o

(DBE = x, /ECD =y &} 5}'"H ADBE, AECD = o| 547}
FolB=z

(DEB = /DBE = x, /«ECD = /EDC =y

% 0 7} aABC 9] 9]4o]E2 OA = OB = OC

=, AOAB, AOAC = o|5HAZtgolmg

/OAB = /OBA = x, /OAC=/0CA =y

2t Q9] o] o5 /BOC = 2/A °|E&

(DOE = /BOC(H&HAZ}) = 2(x+y)

w2t AODE oA y + x+2(x+y) = 180°, x+y = /A =60°
. /BOC = 2/A =120°




ohe 28 2L 4
o Yotk = A E, F Aol2] Al 2
A__ D
J1say” O\
< b JF. J 6em
4

@7cm @ 8cm ® 9cm @ 10cm

B

AP ABCD oA & €& 212 AABC, AACD

® 1lem

AE & x & 5t¥

(15-x)+ (6 —x) =13 .. x =4(cm)
AE = CF = 4(cm) o|B&

- EF =15- (4 +4) = 7(cm)




7. o2 284 H 1+ 4249 ABC ¢ WAHelx DE//BC ¢ o,
oDBCE 9] Yol dulel7p?

@ 38cm? @ 40cm? 3 )42cm?

@ 44cm? ® 46cm?

A 17} WAelx DE//BC € o,
( AADE 9] E9|9] Zo] )= AB + AC

welA] (AADE 9] £8]9] Zo]) = AB+AC = 11413 = 24(cm)
ojtt.
AD + AE = 74 8 = 15(cm) ©]22 DE = 24 — 15 = 9(cm)
oJtt.

w2k Atk E DBCE 9 Hol+
(9+15) x 3.5 X % = 84 % % = 42(cm?) o]},




8. o ™ol M 1E aABC ] Walelal, ZADI = 69°, CEI = 81°
d o, /B °] 27]& Fsteizt

L
o

vV Vv
0
n

. 40°

A 1+= AABC 9 YiHolBER
/BAE = (CAE = a, /ACD = /BCD = ¢ 2} 5}

AAEC oA 9]Z+e] A& of 2J3f| .CAE + /ACE = /AEB °|2
2442=99°---O

AADC oA 2]7+e] Ao o] /CAD + /ACD = /CDB °| 2
222+c=111°---©

A, O H3H 30+ 3¢ =210° Z,a4+c¢=70°

/B =180°-2(a+c)=180°-140° = 40°




9. oh 2ol [ 0 L aABC 9] gl4lolt}. LOCB = 35° o . L
o 272

35°

@ 35° @ 40° @ 45° @ 50° )55°

S5 \
/0OBC = /0OCB = 35°

/BAC + /ABO + /ACO = 2x
180° = 35° X 2 + 2x

110° = 2x

C.x = bb°




10. o= 2™ E2

i

Fstolet

=
Al o] ool g

[¢]

A

A7+e AABC 9] Wol7t 56cm? & w, AABC 9|

%x4>< (E—FW—FC_A) =56

- AB +BC + CA = 28(cm)




